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L. ™ US> FHETE D5 (B IR -

1 10 6
20 2 3 5 7
G 30 0 2 4 6 9
7 40 3 7 8
4 50 6 8
2 60 5
1 70 2
(]
n=17

U bR i=17x%+0.5=4.75i5 CQ=x=27 ~ Q,=x,=48

IQR=0Q,-Q, =21

2. S -

X 6 3 2 4 1
y 2 4 7 3 6

(@ffT FH HE
(b T E AT s -

(]
X y X2 y? Xy
6 2 36 4 12
3 4 9 16 12
2 7 4 49 14
4 3 16 9 12
1 6 1 36 6
16 22 66 114 56
X Xy xx? zy? Xy
114-(22) /5

a) SS=——21"=43

(a) s, 5.1
S 56—(16%x22)/5

(b) r=—" (16x22)) =—0.9025

5S, J66—(16x16)/5 x \[114—(22x22) 5
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3. W TITIgA o iE TP (B A) -

535 B, B, B,
A 7 14 20
A 6 10 26
A 7 12 18
(]
73 /:TE B] BQ B3 5\%"};4"5?
A 7 14 20 41
A 6 10 26 42
A 7 12 18 37
VR 20 36 64 120
26
P(B3|A2)=E=O.62
4. G lE JA B~ C =2 HEEIHEL 50% - 30% -
3% ~ 4% - ?jﬂ M| Fgﬁ%“
(]
A R PN )
I*ﬁi{‘;ﬁlh B
0.5 x98% 0.5 x2%
A 0.490 0.010 050
0.3 X97% 0.3 x3%
B 0.291 0.009 0.30
0.2 X96% 0.2 x4%
¢ 0.192 0.008 020
WS | 0973 0.027
_ 0.009
P(BX g T AL =0.333
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X=2

P(X:Z):%xe‘3 = 0.2240
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6. {I R (1Q) AL~ [l $9BE100 ~ A2 15 pUEfEST ) « SRPRRUF RO 1Q 75
B30 3 M By el M iRt e 2 PP R ANl o
(%]
A5 > 4=100 ~ o=15 » X =130
P(X >130)=P(2>2)=0.5-0.4772=0.0228

7o FZ=2X 3 B Y AR 2 X Fh =3 o =2V HIESTTE Y K =2
o= 3EJFI TEST el o %ﬁﬁcov (X+Y,Z) -

€
Z= 2X+3YFF{"1:7}P’X Y 1 ﬁ'sfcov(X,Y)zoo
cov(X +Y,Z)=cov(X +Y,2X +3Y) =2V (X )+3V (Y)+5cov(X,Y)=2x2%+3x3% =35

8. 16— [ i NSV 25 [ (AR  WUPREE ™ S0 20.4 - B A
# 3.2 I 95%IF[§FE PED t[ﬁﬁk’f" R ,.L'r||:| °

(]
FLATYR © n=25+ X=204 + 5=32 + 1-a=95% -
I s 32
IR sy = T \/7—064 y g gns g1 24 = 2-0639

e=1txs;, =2.0639%x0.64=1.32

O. FHATHIFRL )™ it B pom fhatey -

T l,ﬂ‘l\ih (unbiased ) ~ 354 (efficient) ~ — 3% (consistent) ~ 7 5 % (sufficient) -
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